

## Elementary Particles Rest Mass Formula and the Weak Interaction2

© 2025 Claude Michael Cassano

A single formula for every non-neutrino fermion rest mass is determined based on the E/B triplet electromagnetic-nuclear-weak field-strengths and the Weak Interaction is simply explained based on these field-strengths also determining the W and Z masses.

Particle rest masses may be calculated from the E/B triplets.

Given:

$e^- = e(1) = \overline{(E^1, E^2, E^3)}_1$	$\mu^- = e(2) = \overline{(E^1, E^2, E^3)}_2$	$\tau^- = e(3) = \overline{(E^1, E^2, E^3)}_3$
$\nu_e = \nu(1) = \overline{(B^1_\emptyset, B^2_\emptyset, B^3_\emptyset)}_1$	$\nu_\mu = \nu(2) = \overline{(B^1_\emptyset, B^2_\emptyset, B^3_\emptyset)}_2$	$\nu_\tau = \nu(3) = \overline{(B^1_\emptyset, B^2_\emptyset, B^3_\emptyset)}_3$
$u_R = u_1(1) = \overline{(B^1_\emptyset, E^2, E^3)}_1$	$c_R = u_1(2) = \overline{(B^1_\emptyset, E^2, E^3)}_2$	$t_R = u_1(3) = \overline{(B^1_\emptyset, E^2, E^3)}_3$
$u_G = u_2(1) = \overline{(E^1, B^2_\emptyset, E^3)}_1$	$c_G = u_2(2) = \overline{(E^1, B^2_\emptyset, E^3)}_2$	$t_G = u_2(3) = \overline{(E^1, B^2_\emptyset, E^3)}_3$
$u_B = u_3(1) = \overline{(E^1, E^2, B^3_\emptyset)}_1$	$c_B = u_3(2) = \overline{(E^1, E^2, B^3_\emptyset)}_2$	$t_B = u_3(3) = \overline{(E^1, E^2, B^3_\emptyset)}_3$
$d_R = d_1(1) = \overline{(E^1, B^2_\emptyset, B^3_\emptyset)}_1$	$s_R = d_1(2) = \overline{(E^1, B^2_\emptyset, B^3_\emptyset)}_2$	$b_R = d_1(3) = \overline{(E^1, B^2, B^3)}_3$
$d_G = d_2(1) = \overline{(B^1_\emptyset, E^2, B^3_\emptyset)}_1$	$s_G = d_2(2) = \overline{(B^1_\emptyset, E^2, B^3_\emptyset)}_2$	$b_G = d_2(3) = \overline{(E^1, B^2_\emptyset, B^3_\emptyset)}_3$
$d_B = d_3(1) = \overline{(B^1_\emptyset, B^2_\emptyset, E^3)}_1$	$s_B = d_3(2) = \overline{(B^1_\emptyset, B^2_\emptyset, E^3)}_2$	$b_B = d_3(3) = \overline{(B^1_\emptyset, B^2_\emptyset, E^3)}_3$

and:

$f(0) = 1$	$m_{\nu_e} = m(0, 1) = m(0, 1)f(0) = m(0, 1)$
$f(1) = 2$	$m_d = m(1, 1) = m(2, 1)f(1) = 2m(2, 1)$
$f(2) = 5$	$m_u = m(2, 1) = m(3, 1)f(2) = 5m(3, 1)$
$f(3) = 5 \cdot 10^6$	$m_e = m(3, 1) = m(0, 1)f(3) = 5 \cdot 10^6 \cdot m(0, 1)$

$m(0, 1) = \frac{1}{5 \cdot 10^6} m(3, 1)$	$m(0, i) = \frac{1}{5 \cdot 10^6} m(3, 1)g(3, i)$
$\Rightarrow m(1, 1) = m(3, 1) \cdot 2 \cdot 5$	$m(1, i) = m(3, 1) \cdot 5 \cdot g(1, i) \quad , \quad (i \neq 1)$
$m(2, 1) = m(3, 1) \cdot 5$	$m(2, i) = m(3, 1) \cdot 2 \cdot 5 \cdot g(2, i) \quad , \quad (i \neq 1)$
$m(3, 1) = m(3, 1)$	$m(3, i) = m(3, 1) \cdot g(3, i)$

(It is rather remarkable how simple the relationships are.)

$\frac{m(0, 2)}{m(0, 1)} = 1$	$\frac{m(0, 3)}{m(0, 1)} = 1$
$\frac{m(1, 2)}{m(2, 1)} = \left(\frac{23}{25}\right) \cdot (k)$	$\frac{m(1, 3)}{m(2, 1)} = \left(\frac{23}{25}\right)^{\frac{1}{2}} \cdot (k)^2$
$\frac{m(2, 2)}{m(1, 1)} = 1 \cdot (6k)$	$\frac{m(2, 3)}{m(1, 1)} = 1 \cdot \left[\left(\frac{3}{1004}\right)(6k)^2\right]^2$
$\frac{m(3, 2)}{m(3, 1)} = 1 \cdot (5k)$	$\frac{m(3, 3)}{m(3, 1)} = 1 \cdot \left[\left(\frac{2}{1450}\right)(5k)^2\right]^2$

$\frac{m(1, 1)}{m(3, 1)} = 5 \cdot 2$	$\frac{m(1, 2)}{m(3, 1)} = \left(\frac{23}{25}\right) \cdot (k) \cdot 1 \cdot 5$	$\frac{m(1, 3)}{m(3, 1)} = \left(\frac{23}{25}\right)^{\frac{1}{2}} \cdot (k)^2 \cdot 5$
$\frac{m(2, 1)}{m(3, 1)} = 5$	$\frac{m(2, 2)}{m(3, 1)} = 1 \cdot (6k) \cdot 5 \cdot 2$	$\frac{m(2, 3)}{m(3, 1)} = 1 \cdot \left[\left(\frac{3}{1004}\right)(6k)^2\right]^2 \cdot 5 \cdot 2$
$\frac{m(3, 1)}{m(3, 1)} = 1$	$\frac{m(3, 2)}{m(3, 1)} = 1 \cdot (5k)$	$\frac{m(3, 3)}{m(3, 1)} = \left[\left(\frac{2}{1450}\right)(5k)^2\right]^2$

↓

(h = the number of E's of the fermion / g = the generation)

*	h/g	1	2	3
$d_{R/G/B}$	1	$\left(\frac{1}{k}\right)^0 \frac{m(1, 1)}{m(3, 1)} = 10$	$\left(\frac{1}{k}\right)^1 \frac{m(1, 2)}{m(3, 1)} = \frac{23}{5}$	$\left(\frac{1}{k}\right)^2 \frac{m(1, 3)}{m(3, 1)} = \sqrt{23}$
$u_{R/G/B}$	2	$\left(\frac{1}{k}\right)^0 \frac{m(2, 1)}{m(3, 1)} = 5$	$\left(\frac{1}{6k}\right)^1 \frac{m(2, 2)}{m(3, 1)} = 10$	$\left(\frac{1}{6k}\right)^4 \frac{m(2, 3)}{m(3, 1)} = \left(\frac{3}{1004}\right)^2 \cdot 10$
$e/\mu/\tau$	3	$\left(\frac{1}{k}\right)^0 \frac{m(3, 1)}{m(3, 1)} = 1$	$\left(\frac{1}{5k}\right)^1 \frac{m(3, 2)}{m(3, 1)} = 5$	$\left(\frac{1}{5k}\right)^4 \frac{m(3, 3)}{m(3, 1)} = \left(\frac{2}{1450}\right)^2$

$$m_e = m(3, 1) = \frac{1}{10} \left[ \frac{15}{8} + \frac{1}{4000} \left( \frac{486}{25} \right) \right] e = 0.5109989278047020776144390005897$$

$$k = 4\pi^2 + \frac{15}{8} + \frac{1}{4000} \sum_{k=0}^{\infty} \left(-\frac{1}{20}\right)^k = 4\pi^2 + \frac{15}{8} + \frac{1}{4000} \left(\frac{20}{21}\right) = 41.353655699595529713433202094743$$

(notice the fairly simple factors across the generations)

and for:

$$m_W = m_\mu - 25 + \left(\frac{1}{10}\right)^3 \left(\frac{3}{2}\right)^3$$

$$m_Z = 100k(m_\mu - m_W - 25)$$

$$f \rightarrow f + Z^0 \Leftrightarrow Z^0 = f + \bar{f}$$

$$f^\pm \rightarrow \eta(f^\pm) + W^\pm \Leftrightarrow W^\pm = f^\pm + \eta(f^\pm)$$

where:

$$\eta(R_k^h) \equiv \begin{cases} E_k^h, & R_k^h = B_k^h \\ B_k^h, & R_k^h = E_k^h \end{cases}, \quad \eta(R_k^1, R_k^2, R_k^3) = (\eta(R_k^1), \eta(R_k^2), \eta(R_k^3))$$

simply describes the weak force/interaction as part of the electromagnetic-nuclear-weak field. The table (Cleary,  $W/Z$  are energy states required for the interaction.)

The above table makes plain the generation  $(k, 6k, 5k)$  factors.

In fact, generation factors may be expressed commonly as:  $\left(\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k\right)^{(g-1)^{1+T_0(h)}}$

( $h$  = the number of  $E$ 's of the fermion /  $g$  = the generation)

*	$h/g$	1
$d_{R/G/B}$	1	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,1)}{m(3,1)} = 10$
$u_{R/G/B}$	2	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,1)}{m(3,1)} = 5$
$e/\mu/\tau$	3	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,1)}{m(3,1)} = 1$

*	$h/g$	2
$d_{R/G/B}$	1	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,2)}{m(3,1)} = \frac{23}{25} \cdot 5$
$u_{R/G/B}$	2	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,2)}{m(3,1)} = 10$
$e/\mu/\tau$	3	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,2)}{m(3,1)} = 5$

*	$h/g$	3
$d_{R/G/B}$	1	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,3)}{m(3,1)} = \sqrt{\frac{23}{25}} \cdot 5$
$u_{R/G/B}$	2	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,3)}{m(3,1)} = \left(\frac{3}{1004}\right)^2 \cdot 10$
$e/\mu/\tau$	3	$\left(\frac{1}{\left((h+3) + (-1)^h\right)^{T_0(h)} \cdot k}\right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,3)}{m(3,1)} = \left(\frac{2}{1450}\right)^2 \cdot 1$

*	$h/g$	1	2	3
$d_{R/G/B}$	1	10	5	5
$u_{R/G/B}$	2	5	10	10
$e/\mu/\tau$	3	1	5	1

 $\Leftrightarrow$ 

*	$h/g$	1	2	3
$d_{R/G/B}$	1	$2^1 \cdot 5^1$	$2^0 \cdot 5^1$	$2^0 \cdot 5^1$
$u_{R/G/B}$	2	$2^0 \cdot 5^1$	$2^1 \cdot 5^1$	$2^1 \cdot 5^1$
$e/\mu/\tau$	3	$2^0 \cdot 5^0$	$2^0 \cdot 5^1$	$2^0 \cdot 5^0$

 $:\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 0 & 1 & 0 \end{pmatrix}$

$$\Rightarrow \Gamma \equiv \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{pmatrix}; \quad \Delta \equiv \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 0 & 1 & 0 \end{pmatrix}$$

 $\Rightarrow$ 

*	$h/g$	1	2	3
$d_{R/G/B}$	1	$2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$	$2^0 \cdot 5^1$	$2^0 \cdot 5^1$
$u_{R/G/B}$	2	$2^0 \cdot 5^1$	$2^1 \cdot 5^1$	$2^1 \cdot 5^1$
$e/\mu/\tau$	3	$2^0 \cdot 5^0$	$2^0 \cdot 5^1$	$2^0 \cdot 5^0$

$\Downarrow$

*	$h/g$	1
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

*	$h/g$	2
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,2)}{m(3,1)} = \frac{23}{25} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,2)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,2)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

*	$h/g$	3
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,3)}{m(3,1)} = \sqrt{\frac{23}{25}} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,3)}{m(3,1)} = \left( \frac{3}{1004} \right)^2 \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,3)}{m(3,1)} = \left( \frac{2}{1450} \right)^2 \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

And:

$h/g$	3	3
1	$\frac{23}{25} = \left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\frac{1}{g-h}}$	$\sqrt{\frac{23}{25}} = \left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\frac{1}{g-h}}$

$h/g$	3
2	$\left( \frac{3}{1004} \right)^2 = \left( \frac{h + (-1)^h}{h(h+2 + (-1)^h)^{g-1} + h(h+1) - 2} \right)^{g-1}$
3	$\left( \frac{2}{1450} \right)^2 = \left( \frac{h + (-1)^h}{h(h+2 + (-1)^h)^{g-1} + h(h+1) - 2} \right)^{g-1}$

So:

*	$h/g$	1
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,1)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

*	$h/g$	2
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,2)}{m(3,1)} = \left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\frac{1}{g-h}} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,2)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,2)}{m(3,1)} = 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

*	$h/g$	3
$d_{R/G/B}$	1	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(1,3)}{m(3,1)} = \left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\frac{1}{g-h}} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$u_{R/G/B}$	2	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(2,3)}{m(3,1)} = \left( \frac{h + (-1)^h}{10 \cdot [h(h+2 + (-1)^h)^2 + h(h+1) - 2]} \right)^{g-1} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$
$e/\mu/\tau$	3	$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(3,3)}{m(3,1)} = \left( \frac{h + (-1)^h}{10 \cdot [h(h+2 + (-1)^h)^2 + h(h+1) - 2]} \right)^{g-1} \cdot 2^{\Gamma_{hg}} \cdot 5^{\Delta_{hg}}$

Now, noting that wherever  $\left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\frac{1}{g-h}}$  appears;  $h = 1 < g \in \{2,3\} \Rightarrow g-h > 0$

Thusly, all the fermion masses may be reduced to this single formula:

$$\left( \frac{1}{((h+3) + (-1)^h)^{T_0(h)} \cdot k} \right)^{(g-1)^{1+T_0(h)}} \cdot \frac{m(h,g)}{m(3,1)} = \left( \frac{(g+2)2^{(g+2)} + (-1)^g}{(g+2)2^{(g+2)} + (-1)^{g+1}} \right)^{\left(\frac{1}{g-h}\right)\delta_1^h} \left( \frac{h + (-1)^h}{10 \cdot [h(h+2 + (-1)^h)^2 + h(h+1) - 2]} \right)^{(g-1)\delta_3^g}$$

( $h$  = the number of  $E$ 's of the fermion /  $g$  = the generation)

Note:

$$\Rightarrow \Gamma \equiv \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{pmatrix} \Rightarrow \Gamma_{hg} = (1 - T_0(h))^{1-T_0(g)} \cdot \left[ \frac{1}{2} (1 + (-1)^{T_0(h)}) \right]^{T_0(g)} ;$$

$$\Delta \equiv \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 0 & 1 & 0 \end{pmatrix} \Rightarrow \Delta_{hg} = \left[ \frac{1}{2} (1 + (-1)^{T_0(h+1)}) \right]^{\frac{1}{2}(1-(-1)^g)}$$

$h/g$	1	2	3
1	$2^1 \cdot 5^1$	$2^0 \cdot 5^1$	$2^0 \cdot 5^1$
2	$2^0 \cdot 5^1$	$2^1 \cdot 5^1$	$2^1 \cdot 5^1$
3	$2^0 \cdot 5^0$	$2^0 \cdot 5^1$	$2^0 \cdot 5^0$

where: from previous:

$$T_0(h) \equiv \frac{1}{2}(h-1 + \delta_{(-1)^h}^1) ; T_n(h) \equiv T_0(T_{n-1}(h)), \quad (h \in \mathbb{N}, n \in \mathbb{N} \geq 1)$$

## REFERENCES

[1] Cassano, Claude.Michael ; "Reality is a Mathematical Model", 2010.

ISBN: 1468120921 ; <http://www.amazon.com/dp/1468120921>

ASIN: B0049P1P4C ;

[http://www.amazon.com/Reality-Mathematical-Modelbook/dp/B0049P1P4C/ref=tmm\\_kin\\_swatch\\_0?\\_encoding=UTF8&sr=&qid](http://www.amazon.com/Reality-Mathematical-Modelbook/dp/B0049P1P4C/ref=tmm_kin_swatch_0?_encoding=UTF8&sr=&qid)

[2] Cassano, Claude.Michael ; "A Mathematical Preon Foundation for the Standard Model", 2011.

ISBN:1468117734 ; <http://www.amazon.com/dp/1468117734>

ASIN: B004IZLHI2 ; [http://www.amazon.com/Mathematical-Preon-Foundation-Standardbook/](http://www.amazon.com/Mathematical-Preon-Foundation-Standardbook/dp/B004IZLHI2/ref=tmm_kin_swatch_0?_encoding=UTF8&sr=&qid)

[dp/B004IZLHI2/ref=tmm\\_kin\\_swatch\\_0?\\_encoding=UTF8&sr=&qid](http://www.amazon.com/Mathematical-Preon-Foundation-Standardbook/dp/B004IZLHI2/ref=tmm_kin_swatch_0?_encoding=UTF8&sr=&qid)

[3] Claude Michael Cassano ; "All Fermion Masses and Charges Are Determined By Two Calculated Numbers".

<https://vixra.org/abs/1311.0182> , 2016.